Action

PF2L Current [kA]

N
o

)
(=

1400

1200

1000

PF2L [Post Disruption]

800

600

400

200

=
o

llllllllllllllllllll TTT lllllllllll

o

lllllllll

Shot# 3173 Param Tree 72

llllllllllll

= Overcurrent Trip (DCPS)

llllllll

1 llllllllllllll

llllllllllllllllllllll

- Auctioneered Data (idl)
E Conditioned Data (DCPS), Limits: [-1.5000000, 15.000Q00]
-4 -2 0 2
time

4

(o]

FuII Actlon (idl), Limit = 1240.00, Max.—1352.22,
:_Shot #: 3173.00, Param Tree: 72
" Fault Time: 2.8424816
:—Faults (L1) [AT,DT]: [2.84240, 2.8274

llllllllllllll

1

——FuII Action (DCPS) Limit = 1240.0000, Max.=1352.4857, End Val. 1351.5306-

al. 1351.26

\

11

llllllllllllllllllllllll

4 -2 0 2

(o]

time
g E IDL, Circular, [-0.0164252, 14.0136]
o DCPS Clrcular [-0. 016425229 14. 013607]
IDL Shapeg ‘ ‘

lllllllllllllllllll 111 lllllllllllllllllllllll

(o]



